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Across-Down 602

Complete the puzzles.

Where does a Snowman keep his money? In a snowbank.
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Answer Key Date:

Teacher: Class:

Across-Down 602

Where does a Snowman keep his money? In a snowbank.

Complete the puzzles.

Alag| + |11 + |19] = | 68| B|o1| - |34] - |17] = | 40
+ + + + - - - -
o5| + |22 + [27] = 74| 38| -4 -|12] =22
+ + + + - - - -
34| + |50| + |39 = [123] [26| - [14] - | 2| = |10
o7| + 83| + [85| = 265] |[27| - |16] - | 3| =18
Clag| - |14] + 26| = |51|P|27| - | 3| +|33]| = |57
- + - + - + _ +
14| + (37 - | 2| =]a9| |3]|+]|29] - |12] = |20
+ _ + + + _ + +
42| - |6 |+ |25 =61 [29] - 13| + | 34| = |50
67| + | 45| + | 49| = |161] 53| + [19] + |55] = |127
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